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Is the following function even, odd, or neither?

f@) =97 =

Choose 1 answer:
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1/3  Afunction f is evenif f(—z) = f(z) for every value of z in the domain of the function.

Graphically, this means that if you reflect f horizontally you will get the same graph.
Afunction f is 0ddif f(~) = — f(z) for every value of z in the domain of the function.

Graphically, this means that if you reflect f horizontally and then vertically you will get the
same graph.

Todetermine f f(z) = V/Z — 2 is even, 0dd, or neither,let's find the expression for f( )
and see ifit's equal to £() or — f(2).

213 fa)=V(a) - (2)

VI-Yz+z
= iz

=-f)

3/3 | Wefoundthat f(-z)

F(z).s0 fisodd.
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Is the following function even, odd, or neither?
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1/3 Afunction f is evenif f(~z) = f(z) for every value of z in the domain of the function.
Graphically, this means that if you reflect f horizontally you will get the same graph.

Afunction f is 0ddif f(~) = — f(z) for every value of z in the domain of the function.
Graphically, this means that if you reflect f horizontally and then vertically you will get the

same graph.
To determine f f(z) = % s even, odd, or neither, let's find the expression for f( )
and see ifit's equal to f(z) or — ().
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3/3 | Wefoundthat f( -

F(z),50 fiseven.
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‘Tamara ias asked to determine whether £(z) =
Step 1: Find expression for f()

fa)= (222

Step 2: Checkif f() is equal to f (z) or — f (z)

4

2~ 22 isthe same as f(z) = z* - 22

Step 3: Conclusion

F(~a) is equivalent to f(z),so  is even.

227 is even, odd, or neither. Here is her work:

Is Tamara's work correct? If not, what is the first step where Tamara made a mistake?
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Choose 1 answer:

() Tamara's work s correct.

‘Tamara's work is incorrect. She first made a mistake in Step 1.

() Tamara's workis incorrect. She first made a mistake in Step 2.

(D) Tamara's work s incorrect. She frst made a mistake i Step 3.
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Afunction f is evenif £(—) = f () for every value of  in the domain of the function.
Graphically, this means that if you reflect f horizontally you will get the same graph.

Afunction f is 0ddif f(~) = — f(z) for every value of z in the domain of the function.
Graphically, this means that if you reflect f horizontally and then vertically you will get the
same graph.

Let's go over Tamara's work step-by-step and see if each step is correct or not.

Checking Step 1

Tamara's work s correct.If f(z) = * — 22, then f(~2) = o'

Checking Step 2

22

Tamara's work is correct since f( ) and f(z) are both equal toz* — 227,
Checking Step 3
Tamara's work s correct. Since £() = f(z), we know  is even.

In conclusion, Tamara's work is correct.




